u B n elecron has a constant aceeeraton of 3.2 m,f'sz. At a certain instant its velocity is +9.0 m/s. What is its velocity (a) 2.3 s earlier and (b) 2.5 s later?

=32 ’:'/52 = ot +%
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b) t =+25 S = Y= 3-2x(_2.'>-)+°l-é

28B0na dry road, a car with good tires may be able to brake with a constant deceleration of 4.92 m/s” [ a) How long does such a car, initially traveling at 24.6 m /s, take to stop? (b How far does it travel in
this time? (c) Graph x versus t and v versus  for the deceleration.

O~-=— L["T! I"‘/s.f
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290 certain levator cab hasatotel runof 190 m and a masimum speed of 305 m//min, and it accelerates from rest and then back to rest at 122 111,-'33. (2] How far does the cab move while accelerating to
full speed from rest? (b) How long does it take to make the nonstop 190 m run, starting and ending at rest?
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Aot Mq} — g = lfo—2 X1 5T = (68 .62 m

D=1 " 43
gy 6552
Fo 8 g oy mevtrH = R =R = s =332 5
V, = &S — "% -1
3 1+ 2

— betip bty = 2T 332 =91555

; R I Cmmt . . . .
308 The brakeson your car can slow you at arate of 5.2 m/s”. (a) lf you are going 137 km/h and suddenly see a state trooper, what is the minimum time in which you can get your car under the 90 km/h
speed limit? (The answer reveals the futility of braking to keep your high speed from being detected with a radar or laser gun.) (b) Graph x versus t and v versus t for such a slowing

o~ = —5-1 l"l/s}
3
loo m
=~ 28\ Y
= \13FRr —0 o)

V= Go h% = a5 M

25 —%&.| _
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\oo 1 So "
4o l AH(E=\) =354 m
\ 17~ °A !
So 3 > : , »(t=2) = 5.6 m
'. wy /0
| . ,‘ '
HES T ) ! !
: . > E5)
\ 2 > : . 3
yEE Suppose a rocket ship in deep space moves with constant acceleration equal to 9.8 m;"sl, which gives the illusion of normal gravity during the flight. (2] ft starts from rest, how long will it take to
acquire a speed one-tenth that of ight, which travels at 3.0 x 108 m/s? (b) How far will it travel in so doing?
o) o, = .
fl;.,_ﬂc _,o/lx3.ox\u$ = 3.0xb M(S .
£
- _729 3.o0Xlo —o ~ 3.1Xl S
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